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All Candidates' performance across questions

Question Title Mean SD Max Mark FF Attempt %
1(a) (i) 825 0.7 0.9 2 35 95.7

la) (i) | 861 | 46 | 17 | 8 | 569 | 999 |
| 19 | 86 | 46 | 25 | 8 | 572 | 981 |
i) | 85 | 62 | 31 | 12 | 514 | 98 |

| 2b) | 80 | 16 | 15 | 4 | 407 | 975 |

2(f) 817 5.4 2.9 12 45.4 94.8
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.


	WJEC 2017 Online Exam Review
	GCE Economics AS Unit 2  (New Wales) 2520U20-1
	Item Level Data
	Facility factor graph
	Question 1 (c)
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked

	Example 3
	Example 3 marked


	Question 1 (d) ii
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked

	Example 3
	Example 3 marked


	Question 2 (f)
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked

	Example 3
	Example 3 marked






.
Qe

<

Tkt M v he wadizt fils b by ellonck

(LoAle mwxuo U o BAenAorAy, . 6’0'(A wu.ww/«q Lo loabte

M»Am?b }mluuf, an  wem W WAALBALA 4 D1, wimess

Ofﬂﬁ \.aeé-eé, wiowe. o \(LQ,e,owo Wit dewma b, HWM

WEM*AMWWMWW e eb\cwh&'%ﬁ\

««eawm aw&.emm Co ,he puinea Mwhem

MMMLW M%MWWM’U&

f\a}\o \»\Mo vv»sv-éuxn wA a.w MQ@, A(/w,m\/w\ww%

cu-e, %m&’b:’d&rx/u V\Nazfu,u—u\ _.Lo~\7'°\eu Len ek Pcwwe&wé.
CL/UL Fu;ttwm G\o/LcL »wuww W MPD'\»\WW\M»\W |

e leanes vamjLOqu«M











SR (NS

(uoNacL,

| Cod ooy con. \ead 0 MNalicec
e oecause e WOuoWRS

leeopmue excernauries. e aogaen

OAANCoreSS . OOl e OOTxeET L,o\\\

looer = OrOAUCE. OO\ OS2 SO

leoses . ace mcanzc@; OO0, e "LOEe

|looses, rrpmmr\o e e MOces

5 mwt A0n CCUCKES Sera 200

?i'qr\@\ @Cunuhnum creea)

O(‘%\i(l\\c*r“mpﬁr\cb oo uices - M&ﬁ?y
e, T OO R @xXCRINOLEES

NClUCYE e, CAESTOOCRICD OF \C}(\C\QCOPDR-}
CreomMCol - OGO seaclll'e as

SO\ OO Qnﬁ AT G s atl A= alile -

rManre. e, SoCe the QoS

"((\\)(‘)& Y AO mott Mmoo D ?OQ:\)
e costs o Tns Cornone.











M[m/a? t 6 cadpore WA 7‘%& VAL O CoLti A
(’W reX ciiitces Uncley  The  mareet

Mo cmamisnd - I i, Cade,  Hnere
A N2 0 extiing eitemoletiv  prelonk
The F}E);W Fe) 2004 oy »Oﬂ q ead)
mifwmg &/(\A /cw &Mz:u':a/ 7’1/(1/ V4N
Has (o3 e }o (L incliadiciidal .

M can bo deom /i / (el ) i?;:% )

Lhen Fhe e g/m{ ¢ pas] J (JUJ/&J “ 7 /. ~f’ m/i;@/

Lon Al ma /"(4/"/7/7[&/ /ﬁnc&m’:é’ Codt, ~ Yuase
B o Jorr  0f  queedfert,  Lelwh aa

2

Llugbrorten by Fia (Thciciod]  pe Gz

The (315 Soceetsy 02 Geald Hiiiiag
Y MALedoley 1y ﬁ/a (jﬂmwz A
CAUAL V221U 110 ple oradlotrion . Tle CAPmicd

S : 7’
f/ﬁﬁu Lnat ,ﬁuwz /////afzefj /37” Gl

Nines 4/*/7'/%&/71/7 Jlepe Mﬂcf?’)nﬁ/ /C//jzz‘/

Aldntol  Shan  CULore czwg’ A/ 182 lo

X cudd  Aad Qo el =1t e e 1 ,é,—:—’-a:r-f.md,

vﬁecuu 20  hohsnc Mipe  ALLOITE ot

Gy 4 A2 AL o129 2 Dﬂf// 2y e v W)
et '/. Qnel — ALLUIEE Cln g oadfin

e Lacar  enrirommienl,  and

df/f._i/))fcg Corelds  cnd — ofnor ACLELIAN
dnfse Tl Mo pragee ,  gperild

Crremple /tzzf 1L/ tesd Uﬁ//" Ceeterre =

EICET0T IEAYUR





Aee it o ffﬂ[/m}'m Lhis  Aamr 4 She 7
| eatcdrenment © oy Ftu //jﬁzi of  The fﬂf%_;i—
A teeness Lot Corrsdt)  orviomn entyiommona) |
A o701 DLl on, WMM@M O 0008 FLw |

VAN J}La Vil d/(,»(/L/"/J,/ﬁl 4’% Vé%%d
//,1/,1,/,/:1,4/'\1{’71 ' - Z











Using an appropriate diagram, explain how gold-mining can lead to market

QLO) | failure. [8]
Band AO1 AO2 AO3
1 mark 2 marks 2 marks 3 marks
Has the candidate | Is the diagram correct? | Is the answer setin | Answer fully explains that
shown a good context? gold-mining can lead to
understanding of market failure through good
market failure? economic analysis
2 marks 2 marks 3 marks
Excellent diagram with | Clear reference to Clear well-articulated
all areas clearly the data. explanation that gold-
identified and labelled. mining creates negative
Itis completely Relevant content externalities on the third
accurate. from the data is party (other market failures
used to develop accepted if appropriate).
2 and support their
argument. Development of this
explanation that
satisfactorily concludes that
the free market provision of
gold would not lead to a
socially optimum level of
output.

1 mark 1 mark 1 mark 1-2 marks
Understanding of | One major error on the | Limited use of the Limited or brief explanation
market failure is diagram such as data. that does not convince that
either explicit welfare loss being candidate has an excellent
through definition | drawn in the wrong Knowledge and grasp of the technical

1 or implicit in the place or incorrectly understanding may | elements of the theory.
quality of the identified. not be applied
answer. specifically to the
context given in the
data.
0 marks 0 marks 0 marks 0 marks
No understanding | Wrong/incorrect A generic No valid explanation.
0 of market failure. diagram. explanation of any
market failure and
No diagram. there is no mention

of gold-mining.
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Indicative content:
AO1 (Understanding)

Good definition of Market Failure - for example, it is a misallocation of resources caused by
the unrestricted operation of the free market OR it causes net welfare loss to society.

AO1 (Diagram)

AO3 (Explanation)

The Market Failure here is negative externalities in production. The private costs to the firm
in mining for gold are shown by the Supply curve (Marginal Private Costs curve). This
intersects with the Demand curve (Marginal Private Benefits curve) at Qe — meaning that if
gold were to be provided by the free market, Qe units of gold would be made. However,
gold-mining leads to a negative spill-over on a third party — a negative externality. This
means that that there is an external cost of gold-mining on the third party that is not currently
being paid for by either the consumer or the producer. This is represented on the diagram
by drawing a Marginal Social Cost curve — which lies above the Marginal Private Cost curve
since MSC = MPC + External Costs. The Socially Optimum level of output would be at Qsol.
As you can see, Qsol < Qe and therefore we can see that there is an over-production (or
over-allocation) of gold in the free market. We can represent the loss to community surplus
by shading in the welfare loss triangle ABC — which demonstrates that social costs are
greater than private benefits for Qe-Qsol units.

AO2 (Use of data)

Any range of examples from the ‘Planet’ or ‘People’ would suffice here. In order to score the
full complement of AO2 marks, however, it really should be the explanation in terms of these
are impacts on a third party — not the buyer of gold or the seller of gold.

NOTE: Itis possible to answer the question using a different market failure (other than
NEGATIVE EXTERNALITIES). The examiner can award up to full marks for a different
market failure if all elements (the explanation, the diagram, understanding of market failure
and application to the context) are still deemed to be satisfactory.

©WJEC CBAC Ltd. 2
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This is not a good answer.  The candidate can remember a decent definition for market failure (AO1 – 1) but the diagrams are incorrect and there is no economic theory which can be created from the rest of the answer.  



The candidate does, however, write 10 lines on the negative aspects of gold mining.  An optimistic view says that this indicates some understanding of negative externalities without the use of the terminology in the answer.  Therefore, the candidate was awarded one AO2 mark for application.
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5 marks.




An incorrect diagram has been drawn; costs and benefits have been mixed up.



This answer doesn’t out and out define market failure but there is enough implied within the answer to accept that there is a good understanding.  The answer scores AO1 - 1 mark.



The analysis of negative externalities is excellent – social costs are greater than private costs and this leads to over-allocation.  Therefore, the answer scores AO3 – 3 marks.



The use of the data to support the arguments made are more limited and this answer only scores bottom band AO2 application marks – 1 mark.
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This is good answer which is let down by its diagram.  

There is a good definition of market failure (AO1 – 1), followed by a good, nuanced understanding of negative externalities (social costs are greater than private costs).  



The candidate also refers to welfare loss (the idea that community surplus is not maximised) and there is enough here for top band AO3 (3 marks).  In addition the negative externalities are well contextualised with the use of data (AO – 2 marks).  



The diagram does not gain any marks.  The cost and benefits lines are the wrong way round and there is no sensible conclusions that can be drawn from this diagram; it doesn’t work in any regard.
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Answer all the questions.

ALL THAT IS GOLD DOES NOT GLITTER

For centuries people have bought gold for various reasons. One reason is that unlike paper
currency, coins or other assets, gold has maintained its value throughout the ages. People
see gold as a way to preserve and then pass on their wealth from one generation to the next.
Today, gold is also made into jewellery and is used as a component part of space rockets, smart
phones and medical equipment.

Figure 1 — Gold price (US$) per Troy Ounce (standard weight for gold)
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Gold prices have undergone significant price variations over the last 15 years (see Figure 1).
The two biggest reasons for the huge price increase between 2006 and 2011 were increasing
demand from emerging economies such as India and China and also the fall in the value of the
US dollar over the same years. The US dollar is one of the world’s most important currencies
and people around the world often choose to buy dollars as a way of storing their wealth.

Since 2011, however, the price of gold has fallen considerably. In years gone by in other
commodity markets such as tin, coffee and sugar, groups of producers or governments have
attempted to prevent prices from falling too low by buying up surplus commodities on the market.
However, these agreements usually failed as soaring supply caused them to run out of funds.

Global gold production in 2014 stood at over 4000 tonnes. About three-quarters of that gold
comes from enormous, hi-tech, open-pit mines that consume more electricity and water than
entire cities. The largest of these is Bingham Canyon mine in Utah, USA.

Figure 2 — Gold Supply 2010-2014

Year Gold s(t:gg:]yez)er year
2010 4318
2011 4529
2012 4508
2013 4286
2014 4410

© WJEC CBAC Ltd. (2520U20-1)





Figure 3 — Top gold-mining countries in 2014

Country Tonnes
China 462.0
Australia 2724
Russia 266.2
United States 210.8
Peru 171.0
South Africa 167.9
Canada 151.3
Mexico 1104
Ghana 1041

Gold-mining employs over 20 million people worldwide and miners in developed countries are
often paid above the national average. But a great deal of gold-mining occurs in poorer countries
like Ghana and Peru where low labour costs and unregulated labour markets have always
attracted businesses which want to exploit the cheap labour. Between 5 and 10 million gold
miners work in dreadful and dangerous conditions in mines around the world. Poor regulation
means that many miners lack safety equipment and expertise and therefore accidents occur
frequently. In 2013, a tragic tunnel collapse in Sudan killed 100 gold miners. In addition, many
miners are being exposed to toxic mercury — the chemical most often used in the industry.

In addition to destroying many beautiful landscapes, gold-mining also leaves behind more waste
per gram than mining for any other metal. The waste often contains deadly cyanide and toxic
heavy metals which then drains into the soil and poisons the local environment. Similarly, many
gold mines dump their toxic waste directly into rivers and lakes. The Lihir gold mine in Papua
New Guinea, for example, is said to dump over 5 million tonnes of toxic waste into the Pacific
Ocean each year, destroying corals and other ocean life.

(c) Using an appropriate diagram, explain how gold-mining can lead to market failure.  [8]
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1(d)

(i) A guaranteed Minimum price scheme for gold will increase the revenue for firms in Peru and
Ghana as shown by the shaded area in my diagram. Such an increase in revenue means that these
firms will have more money to pay their workers which will increase their income. Or it may mean
that the firms can spend the money on improving working conditions so that there are less accidents
like the one in Sudan which killed 100 miners. Or it may mean that they spend the money in the
local communities like fair trade schemes which doesn’t effect the worker directly but increases

their standard of living outside of work.

On the other hand it says in the text that businesses have setup in Peru and Ghana for the purpose
of exploiting labour. So it is quite likely that these firms will not spend thyeir higher revenue on
workers but instead they will keep wages low and take the money as profit. The rich get richer.
Guaranteed minimum prices are also very difficult to-maintain. It says in the text that similar policies
for tin, coffee and sugar haven’t worked well in the past because they end up being very expensive
for Governments. So the scheme may not last for very long which means that the benefits for

workers are only temporary.

Also workers might benefit if more firms now enter the market. If gold prices are guaranteed then
many entrepreneurs will want to start making gold so they may setup more mines which will mean
more job opportunites.










Q1 (d) (i)

With the aid of a diagram, discuss whether the introduction of a guaranteed
minimum price for gold will be beneficial for workers in gold mines in poor

countries like Peru and Ghana. [12]
Band AO1 AO2 AO3 AO4
2 marks 2 marks 4 marks 4 marks
Is the Has the answer | Has relevant economic Has economic theory
guaranteed been set in the theory been developed been used to evaluate
minimum price context of gold- | in order to make logical | the arguments made in
diagram mining in poor arguments in favour of AO3?
correct? countries? the discussion?

2 marks 2 marks 3-4 marks 3-4 marks
Excellent Clear reference Candidate fully Clear well-reasoned
diagram with all | to the data. develops two lines of and balanced
areas clearly argument of how a evaluation that counters
identified and Relevant content | guaranteed minimum the claims made in AO3
labelled. Itis from the data is price will be beneficial successfully.
completely used to develop for workers.

> accurate. and support their Clear reference to

argument. Max 2 per individual economic theory.

Requires point.
quantity Max 2 per individual
demanded and Economic theory is point.
quality supplied correct and well
to be clearly developed at every
indicated. stage.

1 mark 1 mark 1-2 marks 1-2 marks
One major error | Limited use of the | Candidate only Limited evaluation.
on the diagram. | data. develops one line of

argument of how Throwaway remarks
Any labelling Knowledge and minimum price for gold | without development
error which understanding will benefit workers. should not be credited.
could cause may not be
confusion in applied OR Max 2 per individual
understanding specifically to the point (regardless of how
(not context given in Candidate offers two well it is developed!).

1 price/quantity the data. (or more) points but the

axis). economic theory is only

partially correct or

candidate doesn’t quite

develop the points in

terms of benefits for

workers satisfactorily.

Workers should not be

used synonymously

with consumers.

0 marks 0 marks 0 marks 0 marks
Wrong/incorrect | No context to the | No or incorrect No evaluation offered.

0 diagram. answer. analysis.

No diagram.
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Indicative Content:

AO1 (diagram)

AO3 (Explanation)
Candidates may make the following arguments:

e Gold is PED inelastic (as it has so many uses and few substitutes). *It could even be
argued that it has a positive PED - that as price goes up, it could be argued that
demand actually increases (Veblen goods). Therefore, when price increases,
revenue should increase and so the extra income can be passed down to workers.
This should increase their income, incentive to work, standards of living and taking
them out of poverty.

e Guaranteed minimum prices for gold should increase revenue that gold producers
can make. The extra money for firms could be used to improve living standards for
workers.

o If there is extra profit in the market, this will attract more investment in gold mines to
take advantage of higher prices of gold (and this will lead to greater job
opportunities).

e The extra profit could be used to pay into community funded projects - therefore the
workers themselves can choose how to redistribute their extra money.

e Any sort of min price scheme that involves the government buying up the excess
obviously guarantees the firm a future income which should enable them to sign
workers up to longer term contracts or to reinvest further and therefore create more
jobs.

©WJEC CBAC Ltd. 4





AO4 (Evaluation)

Labour market is very unregulated and therefore there is no guarantee that the
higher prices will be passed onto workers in the form of higher wages.

Unless regulation improves, greater job opportunities doesn’t necessarily mean
higher wages.

Governments may struggle to buy up the excess and the scheme will not last long.
This is particularly true if lots of new suppliers enter the market or gold behaves like
an elastic good. Previous min price schemes (like it says in the data) have not
worked for similar reasons.

Min price schemes have often failed because they are so expensive for governments
to buy the excess. If this is the case, the government may have less money now to
ensure the correct compensation packages, health insurance etc. for the benefit of
workers.

Some countries may look to trade gold at below a ‘global’ min price. Therefore,
those workers are not benefitting. In a sense, some countries may trade on a black
market and this will reduce working conditions even further for those gold-miners (as
they will be even less regulated).

If some countries undercut the min price, then sales will fall for the ‘high value’ gold
and jobs will be lost in those countries.

Min price for gold may create a black market and this will reduce working conditions
even further for those gold-miners.

Min price may not be set above the market equilibrium and therefore it will not be
effective at changing anything.

USA is one the largest producers of gold and yet they have much greater labour market
regulations. Therefore it is possible to improve the working conditions of workers without
having to impose min prices.

Data says that gold miners in the developed world already tend to earn more than the
national average and therefore the min price on gold may not change things dramatically
for them. Therefore, it is difficult to see how a min price scheme could be enforced on a
worldwide basis which compromises the whole scheme.

AO2 (Use of data)

Any range of examples from the ‘People’ section would suffice here or in order to
score the full complement of AO2 marks. However, it really should be the explanation
in terms of impact on the workers rather than firms or governments.

©WJEC CBAC Ltd. 5
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‘2/ 8 marks.




The diagram scores 2 marks (AO1 -2).



There follows a good paragraph then on the advantages of a GMP to workers.  It demonstrates a good understanding of a GMP and links to the workers well.  
There are two clear points: one on increased income and one on increased investment leading to more jobs.  This is the top band of AO3 but, in discussion, it was felt that it should score 3 rather than 4.  AO3 – 3 marks.



In terms of evaluation, there is some confusion about GMPs and minimum prices to begin with, although the final two sentences eventually make more sense.  This is the only evaluation that is credit-worthy and it only reaches the bottom band for AO4 (2 marks).



Overall, the answer makes limited use of the data.  It is in context but the context is bland and not really used in an effective way to support the arguments made.  Many of the arguments are generic and could be about any country or any GMP scheme.  Limited. AO2 - 1 mark.
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The diagram here is worth only 1 mark.  It is does not fully illustrate the impact of a GMP on demand and supply in the market. 



There is one creditable point outlining the benefits to workers; that a GMP will lead to increased investment (although the logic of lower labour costs is incorrect) and that this will lead to more jobs, higher incomes and so forth.  This reached the bottom band of AO3 (2 marks).
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6 marks.




The evaluation is similar in that it really only deals with one issue: intensity of the production process and excess wastage - which is linked to workers in limited sense.  Again, this only reaches the bottom band of AO4 (2 marks).



Borlel

Sticky Note

Overall, the answer makes limited use of the data.  It is in context but the context is bland and not really used in an effective way to support the arguments made.  Limited. AO2 - 1 mark.

In short, this answer is a good example of the structure being correct (it answers all parts of the question) but all the AOs are limited rather than good or excellent.










1(d) @

(i) A guaranteed Minimum price scheme for gold will increase the revenue for firms in Peru and

Ghana as shown by the shaded area in my diagram. Such an increase in revenue means that these

firms will have more money to pay their workers which will increase their income. Or it may mean @
that the firms can spend the money on improving working conditions so that there are less accidents

like the one in Sudan which killed 100 miners. Or it may mean that they spend the money in the

local communities like fair trade schemes which doesn’t effect the worker directly but increases

their standard of living outside of work.

On the other hand it says in the text that businesses have setup in Peru and Ghana for the purpose
of exploiting labour. So it is quite likely that these firms will not spend thyeir higher revenue on
workers but instead they will keep wages low and take the money as profit. The rich get richer.
Guaranteed minimum prices are also very difficult to-maintain. It says in the text that similar policies
for tin, coffee and sugar haven’t worked well in the past because they end up being very expensive
for Governments. So the scheme may not last for very long which means that the benefits for

workers are only temporary. @

Also workers might benefit if more firms now enter the market. If gold prices are guaranteed then
many entrepreneurs will want to start making gold so they may setup more mines which will mean
more job opportunites.

12 marks.



This is an excellent answer.  The diagram isn’t shown above but it accurately illustrated a guaranteed minimum price (GMP) scheme with the additional revenue for producers shaded in.  AO1 – 2.



The first paragraph does an excellent job of explaining the benefits of GMP to workers.  The focus on the workers is key – looking at pay, conditions and living standards.  It gets straight to the nub of the question and, although brief, is fully linked to the issue of workers.  
In addition, all of the points are fully rooted in the context of gold mining in poverty-stricken countries and the particular associated with the workers there (AO2 – one mark).  In terms of AO3 it is probably already 4 marks but there is fourth argument at the end of the answer which would certainly pitch it at the highest AO3 band if not already. 



The second paragraph is the evaluation.  It is, again, heavily rooted in context and it is clear that the candidate has understood the nuance of the data and made solid logical points from it.  There are two well-made points, both linked to worker.  AO4 – 4.










Answer all the questions.

ALL THAT IS GOLD DOES NOT GLITTER

For centuries people have bought gold for various reasons. One reason is that unlike paper
currency, coins or other assets, gold has maintained its value throughout the ages. People
see gold as a way to preserve and then pass on their wealth from one generation to the next.
Today, gold is also made into jewellery and is used as a component part of space rockets, smart
phones and medical equipment.

Figure 1 — Gold price (US$) per Troy Ounce (standard weight for gold)
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Gold prices have undergone significant price variations over the last 15 years (see Figure 1).
The two biggest reasons for the huge price increase between 2006 and 2011 were increasing
demand from emerging economies such as India and China and also the fall in the value of the
US dollar over the same years. The US dollar is one of the world’s most important currencies
and people around the world often choose to buy dollars as a way of storing their wealth.

Since 2011, however, the price of gold has fallen considerably. In years gone by in other
commodity markets such as tin, coffee and sugar, groups of producers or governments have
attempted to prevent prices from falling too low by buying up surplus commodities on the market.
However, these agreements usually failed as soaring supply caused them to run out of funds.

Global gold production in 2014 stood at over 4000 tonnes. About three-quarters of that gold
comes from enormous, hi-tech, open-pit mines that consume more electricity and water than
entire cities. The largest of these is Bingham Canyon mine in Utah, USA.

Figure 2 — Gold Supply 2010-2014

Year Gold s;:gg:])(eg)er year
2010 4318
2011 4529
2012 4508
2013 4286
2014 4410
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Figure 3 — Top gold-mining countries in 2014

Country Tonnes
China 462.0
Australia 272.4
Russia 266.2
United States 210.8
Peru 171.0
South Africa 167.9
Canada 151.3
Mexico 1104
Ghana 1041

Gold-mining employs over 20 million people worldwide and miners in developed countries are
often paid above the national average. But a great deal of gold-mining occurs in poorer countries
like Ghana and Peru where low labour costs and unregulated labour markets have always
attracted businesses which want to exploit the cheap labour. Between 5 and 10 million gold
miners work in dreadful and dangerous conditions in mines around the world. Poor regulation
means that many miners lack safety equipment and expertise and therefore accidents occur
frequently. In 2013, a tragic tunnel collapse in Sudan killed 100 gold miners. In addition, many
miners are being exposed to toxic mercury — the chemical most often used in the industry.

In addition to destroying many beautiful landscapes, gold-mining also leaves behind more waste
per gram than mining for any other metal. The waste often contains deadly cyanide and toxic
heavy metals which then drains into the soil and poisons the local environment. Similarly, many
gold mines dump their toxic waste directly into rivers and lakes. The Lihir gold mine in Papua
New Guinea, for example, is said to dump over 5 million tonnes of toxic waste into the Pacific
Ocean each year, destroying corals and other ocean life.

(d) (i) Withthe aid of a diagram, discuss whether the introduction of a guaranteed minimum
price for gold will be beneficial for workers in gold mines in poor countries like Peru
and Ghana.

[12]
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2 {f) Cutting direct direct taxes like income tax will create an incentive to work for workers. This
means that the supply curve for labour will shift to the right and wages in the economy will fall. This
creates downwards pressure on prices for goods and services. This shown by the SRAS shifting
left/down. This makes exports more competitive,

On the ther hand it may not lead to big changes on inflation because nt many will choose to come
into the labour force as a result. The change in taxes may be too small to make a difference or if
there is policy of increasing welfare at the same time then people may not be too bothered to
change. Finally, is income falls then C increases and this may cause demand-pull inflation which will
actually cause inflation. '

Infratsture should reduce i9nflatioon because again it shifts SRAS left/down. This is because
businesses will see their costs of production fall. For example, new roads will lower transport costs,
new airports will reduce time/shipping costs etc

On the other hand infrtrastrucue can take a long time to build. The HS2 PROJECT in England is
alreaduy taking more than 20 years or so. And so inflation might not be reduced for a long time.
Also the policy of increasing G to pay for the infrastructure will shift AD and like the previous policy it
actually might cause inflation.

Increasing interest rates will deinfitely reduce inflation bvecause it causes C to fall. People are more
incentivized to save theior money. It also leads to a fall in the demand of assest like houses, so
house prices fall and this creates a negative wealth effect, which shifts AD to the left and reduces
inflation. It will also appreciate the exchange rate because more foreigners want to save in british
bankls so exports will fall and AD falls.

Given that monetary policy is so effective and there are possible downsides to the supplyside
policies then | would choose to increase interest rates. Interest rates might not work because they
also take time and there are other factors effecting AD but in the main they will be better.










To what extent do you agree with the statement: “the supply-side policies of

Q2 (f) | cutting direct taxes and improving infrastructure are more effective strategies
for reducing inflation than a rise in interest rates”? [12]
Band AO1 AQO3 AO4
2 marks 4 marks 6 marks
Does the answer Has economic theory been well | Have counter arguments
show a good developed to support the been made and

understanding of
both monetary and
supply-side policy?

2 marks
A good
understanding of
monetary policy
AND supply side
policy is either

> explicit through
definition or implicit

argument that monetary policy
and supply side policies can be
used to reduce inflation rates?

3-4 marks
A good analysis that develops
the definitions raised in AO1
fully develops to show how
inflation levels can be curbed by
the two different policies.

Max 2 per policy.

developed?

5-6 marks
Both policies are
evaluated within their own
right but also in
comparison to each other.

Candidate makes a
judgement, not necessarily
through a conclusion, that
one policy is ‘better than
the other’ and justifies it.

3-4 marks
Good level of evaluation
which tackles both policies
and shows why they may
not help to curb inflation
BUT no attempt to
compare them.

in the quality of the OR
answer .
Comparison is present
BUT not enough
evaluation of each policy
in their own right.
1 mark 1-2 marks 1-2 marks
Limited A limited analysis. Limited evaluation.
understanding is
demonstrated. Again, perhaps only one of the
1 policies is developed fully — not
Only one of the two | both.
policies is
obviously
understood.
0 marks 0 marks 0 marks
There is no Incorrect analysis. No analysis. | Only throwaway remarks.
understanding.
0 Answers assert outcomes (i.e. No evaluation present.

that inflation falls) but with no
developed explanation
anywhere.
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Indicative content:
AO1 (Understanding)
Monetary Policy — interest rates can be increased.

Supply-side policies are government attempts to increase productivity and shift aggregate supply
(AS) to the right.

AO3 (Analysis)

Monetary Policy must include at least 2 strands of the transmission mechanism. One strand
equals one (AO3) mark.

Explanation of the transmission mechanism and the various component parts:
o It willincrease the reward for saving and therefore decrease consumption.
o |t will also discourage investment since repayments are now larger.
e |t lowers asset process and therefore consumption falls, lowering AD and inflation.
e |t will encourage Capital Inflow and therefore lead to an appreciation of the ER —
thereby reducing exports and increasing imports. All of which will reduce AD and
therefore create downwards pressure on prices.

Also, candidates could bring in the idea of lots of people being on Variable rate mortgages and
therefore an increase in interest rates would drive down their disposable income.

**Although not explicitly stated in the question, Monetary Policy could also be explained by an
ambitious candidate, through Quantitative Tightening. This should be credited. The Central Bank
sells debt on capital markets in order to soak up liquid cash in the economy and thereby reducing
both C and | opportunities for new bond-holder, thereby driving down AD and prices. Or, driving
up the interest rates on other assets and again increasing the reward for saving rather than
spending.

Supply-side policies can be EXPLAINED through examples but it must link to the idea of
increasing LRAS or driving down costs through efficiency and/or productivity gains so that
inflation is brought under control.

SSPs will shift AS downwards or outwards and thus try to solve inflationary pressures through
AS rather than AD. Any reasonable SSPs should be credited as long it is made clear how the
AS curve should respond and how this then alleviates inflationary pressure e.g. increasing full
capacity, reducing the price of factors of production or increasing productivity.

Just shifting LRAS without explaining the logic of a policy should not be credited.

MAX 2 per policy

AO4 (Evaluation)

There are a number of reasons why ramping up interest rates may fail to reduce inflation.

¢ If consumer/business confidence is high (i.e. in and just out of a recession), then people
and firms will continue to spend regardless of interest rates.

¢ Interest rates may be relatively higher elsewhere in the world and so speculators may not
decide to save in this country — therefore ER does not appreciate.

¢ Inflation may be caused by cost-push factors rather than demand-pull factors and
therefore manipulating AD with monetary policy will have very little affect.

o Throwaway evaluation such as ‘time-lags’ need to be developed in order to be credited at
all.

©WJEC CBAC Ltd. 7





Similarly, SSPs may not alleviate the problems of inflation:

e SSPs may require short-term investment and this will actually have an inflationary effect
in the immediate term if AD shifts right.

e Governments are prone to malinvestment and government failure — which means that
money may be invested into schemes that don’t quite have the required outcome e.g.
training programmes that fail to equip people with the right skills, infrastructure projects
which don’t get off the ground.

e The impact of the SSP may not be seen for a number of years and therefore it is unlikely
to have an immediate impact — unlike monetary policy which is arguably a more direct
method.

e SSP’s may negatively affect some economic groups e.g. flexible labour markets such as
zero contract hours and weak trade union representation - even though inflation may be
falling.

This is not an exhaustive list of issues and examiners should credit logical and well
developed arguments both in AO3 and AO4 that are not present here.

2520U20-1 WJEC Economics Unit 2 MS Summer 2017/GH
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3 marks.




The candidate makes a lot of assertions in this answer without really developing the points to explain why.



On the supply-side, there is only one creditable comment “improving infrastructure improves productivity and increased economic output” which combined with the comment on “reducing inflation” just about scrapes one mark for AO1 - a (limited) understanding of supply-side policies.



On the monetary policy side, there is an obvious understanding being illustrated by the use of interest rates (AO1 – 1 mark) and then the development of this point to make an evaluative point about high interest rates leading to lower consumption (and, therefore, in conflict with the economic growth comments above) again scrape this answer into the bottom band of AO4 too.  AO4 - 1 mark. 
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Like many scripts, this answer goes immediately into the evaluation of direct taxes (many candidates failed to appreciate the supply-side impact of direct tax reduction).  The whole of the first paragraph, therefore, is only worth 2 marks (AO4).  It cannot AO1 yet.



This second part is then very interesting as the candidate writes in bullet points (s/he is clearly running out of time!).  On the whole, this is an unadvisable strategy.  In this case, however, it suddenly illustrates to the examiner that the candidate has an understanding of supply-side policies (“improved infrastructure → improved productive potential”) which is enough for an AO1 mark and then it goes on to link to lowering inflation, albeit in a very limited fashion, so there is also scope for bottom band AO3.



The same logic is true for monetary policy as level.  There is an obvious understanding of interest rates (AO1 – 1 ) and two elements of the transmission mechanism are considered in a limited fashion.  Combined with the limited development of the supply-side policies, there is enough here for AO3 – 2 marks, which is the bottom band of AO3.
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6 marks.











2 {f) Cutting direct direct taxes like income tax will create an incentive to work for workers. This
means that the supply curve for labour will shift to the right and wages in the economy will fall. This
creates downwards pressure on prices for goods and services. This shown by the SRAS shifting
left/down. This makes exports more competitive,

On the ther hand it may not lead to big changes on inflation because nt many will choose to come
into the labour force as a result. The change in taxes may be too small to make a difference or if
there is policy of increasing welfare at the same time then people may not be too bothered to
change. Finally, is income falls then C increases and this may cause demand-pull inflation which will

actually cause inflation. @

Infratsture should reduce i9nflatioon because again it shifts SRAS left/down. This is because
businesses will see their costs of production fall. For example, new roads will lower transport costs,
new airports will reduce time/shipping costs etc

On the other hand infrtrastrucue can take a long time to build. The HS2 PROJECT in England is
alreaduy taking more than 20 years or so. And so inflation might not be reduced for a long time.
Also the policy of increasing G to pay for the infrastructure will shift AD and like the previous policy it
actually might cause inflation.

Increasing interest rates will deinfitely reduce inflation bvecause it causes C to fall. People are more
incentivized to save theior money. It also leads to a fall in the demand of assest like houses, so
house prices fall and this creates a negative wealth effect, which shifts AD to the left and reduces
inflation. It will also appreciate the exchange rate because more foreigners want to save in british
bankls so exports will fall and AD falls.

Given that monetary policy is so effective and there are possible downsides to the supplyside
policies then | would choose to increase interest rates. Interest rates might not work because they
also take time and there are other factors effecting AD but in the main they will be better.



On the supply-side, this candidate makes excellent points with regards to both direct taxes and infrastructure.  The examples are particularly impressive.   



On the monetary policy side, there is an obvious understanding of interest rates and all three elements of the transmission mechanism are considered.  Therefore, the answer scores AO1 – 2 and AO3 – 4 immediately.  6 marks so far.



With regards to evaluation, the answer could have been better.  In particular, evaluation of monetary policy is lacking and there are only two throw-away remarks at the end (time delay – which isn’t true in the case of exchange rates, and other factors affecting AD – which is not then developed further).  The evaluation of the direct taxes is good and there is a limited attempt at a evaluative statement at the end, albeit let down by the throwaway remarks on monetary policy.  Therefore, this answer reaches the middle band of AO4 rather than the top band and scores 3.  AO4 – 3.










Education, Education, Education or Inflation, Inflation, Inflation

Extract A — an extract from an Open Letter sent by the Governor of the Bank of England to the
Chancellor of the Exchequer dated 12 Feb 2015.

BANK OF ENGLAND Mark Carney
Governor

The RT Hon George Osborne
Chancellor of the Exchequer
HM Treasury

Horse Guards Road

London

SW1A 2HQ 12 February 2015

Do Sm W

On 13 January 2015, the Office for National Statistics (ONS) published data showing
that the annual inflation rate had fallen to 0.5%. That is the lowest figure since May 2000
and 1.5% below the inflation target of 2%.

The policy action the Committee is taking in response

The Bank Rate has been at a historically low level of 0.5% for almost six years.
Immediately following the 2008 financial crisis, the UK faced a period of high unemployment
and weak aggregate demand. Yet despite this weak demand, a sharp depreciation of
sterling created a sharp rise in the price level and inflation remained persistently above the
2% target. In that environment the Monetary Policy Committee (MPC) judged it appropriate
to keep interest rates low at 0.5% for the benefit of the wider macro-objectives even though
it did not bring inflation down quickly.

The situation in early 2015 is very different. Inflation is well below the target and
the key factors causing this have been falling world oil and food prices and also slow
economic growth in the country. In addition, unemployment still remains relatively high at 2
million. Therefore, the MPC believes it can simultaneously return inflation to its target level
and support economic growth without any fear of conflict between these policy objectives.
Therefore the Bank Rate will remain low at 0.5% for the foreseeable future in order to
return inflation to the target as quickly as possible.
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Extract B — an edited version of an article written by Professor Dylan Jones-Evans that was
published by WalesOnline on 2 Oct 2015.

The World

The Global Competitiveness Report is an annual assessment of productivity and
prosperity in 140 countries around the globe. The 2015-16 report concluded that
technological innovation and skills are the key drivers for economic growth in what is
still a challenging economic climate.

The report also expresses concern at the failure of some countries to adopt supply
side policies that boost productivity and lead to more competitive prices. Supply side
policies such as cutting direct taxes and improving infrastructure were recommended,
but the key finding was the need to ensure that more people have access to high-
quality education. If skills issues are not addressed, the report warns, it could result in
problems in unemployment and the trade balance.

Wales

In the last few years, there have been a number of attempts aimed at increasing
productivity within Wales. One such project is the Alacrity Foundation, located in
Newport.

The Alacrity Foundation gives graduates an intensive 12-month practical business
training and education programme. The programme’s mission is to train the brightest
and best graduates and create a new generation of Welsh-based hi-tech companies.
Simon Gibson, founding trustee of Alacrity, said: “Alacrity was established with the
simple mission of assisting in the renewal of South Wales’ economic base”.

(f)  To what extent do you agree with the statement: “the supply side policies of cutting direct
taxes and improving infrastructure are more effective strategies for reducing inflation than
a rise in interest rates”? [12]











